Tk 3 0 FEESRIASEFEI 7R

ATSIR
F—L% 1 2 3 4 5 [ 6 7 5
ma%E— | o0 0 0 0 >
£ _ w
=] i 3 3 4 X 0 4010 ZEZJ—JLR
F—L% 1 2 3 4 5 6 7 =
I=y=ES 0 0 0 0 0 0 0 0
F—1L% 1 2 3 4 5 6 7 =
SREE 0 0 0 0 0
£ _ W
& I 2 1 5 0 X 8 5@ 7=Z=3-)LR
F—L% 1 2 3 5 6 7 =
ITSTEES 0 0 0 1 0 0 1
£ . W
B%E— | 0 3 0 1 o 6B 7 ATk
BUSOYR
F—L% 1 2 3 4 5 6 7 =
BaIE 10 8 1 19
£ _ W
Bk 0 0 0x 0 3E15mETJ—-JLR
F—L% 1 2 3 4 5 6 7 =
£ _ W
B | 1 0 1 5 T ox 6617 T K
F—L% 1 2 3 4 5 6 7 =
fiEmn | 4 2 0 5 0 5 S N
Bk 0 0 0 0 0% 0 0073 1—)L R — LA
F7/OEHESEZRBEREAS VI M=l #HahtE
| —_—
= BERHAEAEDE
- HeER
a— - 288 1@ -+ O J\
P HRB = K
AEmELL 3BB R B A~
~ B8
TN e
J\
B b A Y ——
R
(I=T5ES
O

HA TS —




